N of reco track vs pT

[N of associated (recoToSim) tracks vs pT

N of associated (recoToSim) duplicate tracks vs pT

1%} F 9] F %] [%]
X F X F < =
8.l 8 48l 3 8
£10°F £10°F = £
E g ] ]
i H s g
10°ke =
E 3
10°F
10%
T o : ] ; ° °
! 3 : L g f S E
M- B i ) )
s 1 1I0 0 2 *To 1 1I0 07 2
trag‘lg P, (Ge\;')0 traélg P, (Ge\}f)
mYal i
Z%ggm%dg\%fms_vz_prelimWP_5iter
— 2 2_6iter
9] %] [%]
g g <l
s ° o
£ 10 s g
=
3
o
o o -
© T : :
o @ .
N : H
R T B
track n track n
N of associated (recoToSim) tracks vs phi |
9] %] [%]
S ] ]
8 s g
s 2 o
E K] g
=
3
T
°
T
@

track ¢

2 3
track n

2 3
track @



	Contents
	Page 1


